
MCR3U WS – Transformations of Functions Mar 4, 2011

State the transformations and apply them to the provided parent relation (dotted line):

y=3√( 1
2
( x+ 2))−4 , or y=3 f [ 1

2
 x2]−4 y=− 3

x – 3
−2 , or y=−3 f ( x – 3)−2
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MCR3U WS – Transformations of Functions Mar 4, 2011

State the transformations and apply them to the provided parent relation (dotted line):

y=−2√−( x−4)+ 3 , or y=−2 f [−x – 4  ]3 y= 2
x+ 3

+ 4 , or y=2 f  x34
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State the transformations and apply them to the provided parent relation (dotted line):

y=2 f  x – 2−3 y= f [−x3]2
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MCR3U WS – Transformations of Functions Mar 4, 2011

State the transformations and apply them to the provided parent relation (dotted line):

y=−2 f [ 1
2
x1]3 y= 3

2
f −2 x9−3
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State the transformations and apply them to the provided parent relation (dotted line):

y=3 f [−x – 2]4 y=−3 f [ 1
2
 x –1]−1
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State the transformations and apply them to the provided parent relation (dotted line):

y=− f [2 x3 ]−4 y=2 f − 1
2
x 5

2
−1
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